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HON-tU e HETS

BET A5 37
21 x50% = 5x20% =
67 x 40% = 22 x 70% =
12 x 60% = 29 x 50% =
98 x 60% = 10 x 10% =
41 x 10% = 65 x 20% =
70 x 80% = 96 x 80% =
23 x 60% = 49 x 80% =
41 x 30% = 72 x 50% =
5% 90% = 39 x 70% =
31 x20% = 72 x 50% =

www.snowmath.com


https://www.snowmath.com

]
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21 x50% = 10.5

67 x40% = 26.8

12 x60% = 7.2

98 x 60% = 58.8

41 x 10% = 4.1

70 x 80% = 56

23 x60% = 13.8

41 x30% = 12.3

5x90% = 4.5

31 x20% = 6.2
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5x20% =1

22 x70% =15.4

29 x 50% = 14.5

10 x 10% =1

65 x20% = 13

96 < 80% = 76.8

49 x 80% = 39.2

72 x 50% = 36

39 x70% = 27.3

72 x 50% = 36
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